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8 ZESTAW ZADAŃ Z ANALIZY

1. Oblicz ca lki:∫
x(x−1)(x−2)dx,

∫
xdx

2x2 − x + 1
,

∫
2x2 + 2x + 13

(x− 2)(x2 + 1)2
dx,

∫
x

(x− 1)2(x + 1)3
dx,∫

xexdx,

∫
dx√

3x− 4
,

∫
sinx cosxdx,

∫
x

(x2 + a2)n
dx,∫

ex cosxdx,

∫
cosxesinxdx,

∫
x ln(1+x2)dx,

∫ √
x + 3
√
x

x
dx,

∫
dx

x2 − 4
dx,∫

dx√
4 + x2

,

∫
dx√

8− x2
,

∫
arctgx

2

4 + x2
dx,

∫
52−4xdx,

∫
3x + 1√
5x2 + 1

dx,∫
x · 7x2

dx,

∫
dx

x lnx
,

∫
cos
√
x√

x
dx,

∫
dx

sinx cosx
,

∫
sin 3x

3 + cos 3x
dx,∫

ex√
e2x − 2

dx,

∫ √
1 + ln x

x lnx
dx,

∫
x3 lnxdx,

∫
sin(lnx)dx,

∫
xarctgxdx,∫

x3e−x2

dx,

∫
x cosx

sin2 x
dx,

∫
x2 + 1

x4 − 5x2 + 4
dx,

∫
dx

x2 − 2x + 5
,

∫
dx

x2 + 2x
,∫

dx

2 + 3x− 2x2
,

∫
ex

1 + ex + e2x
dx,

∫
lnx

x
√

1− 4 lnx− ln2 x
dx,

∫
cosx

sin2 x− 6 sinx + 12
dx,∫ √

2− x− x2dx,

∫ √
x− x2dx,

∫
dx

(x− 1)(x + 2)x + 3)
dx,

∫
dx

(x3 − 8)2
,∫

dx

x(x + 1)2
,

∫
x2
√
x2 + 4dx,

∫
x3

√
x− 1

dx,

∫
x

3
√
x + 2

dx,

∫ √
x

x + 2
dx,∫

x2

x2 − x + 1
dx,

∫
x5

√
1− x2

dx,

∫
cos3 xdx,

∫
sin5 xdx,

∫
cos2 xdx,∫

cos4 xdx,

∫
dx

sin5 x
,

∫
dx

cos6 x
,

∫
dx

sin2 x cos4 x
,

∫
dx

2 + cos x
,∫

dx

3 cosx + sinx + 1
,

∫
sinx

1− sinx
dx,

∫
dx

sin2 x + 3 sinx cosx− cos2 x
,

∫
sinx

(1− cosx)3
dx,



∫
1 + tgx

1− tgx
dx,

∫
cosx

1 + cos x
dx,

∫
dx

1 + sin2 x
,

∫
dx

(x2 + 1)2
,

∫
dx

(x + 1)
√
x2 − 1

,∫
dx

(x + 2)
√

4− x2
,

∫
(x3+3x+1) sin 5xdx,

∫
x arcsinxdx,

∫
arctgx√
(x2 + 1)3

dx,∫
2x− 8√

1− x− x2
dx,

∫
3x3 + 4√
x2 − 8x

dx,

∫
x2√

(3− x)(x− 5)
dx,

∫
3x3 + 7x2 − 2x− 3√

3− 2x− x2
dx,∫

dx

1 + 2 cos2 x
,

∫ √
sin2 x + sinx cosx dx,

∫
x5 + x4 + 3x3 + x2 − 2

x4 − 1
dx,∫

dx

x4 + 6x2 + 25
,

∫
2x4 − 10x3 + 21x2 − 20x + 5

x2 − 3x + 2
dx.


